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DIRECTIONS TO CANDIDATES

* Put your name at the top of this paper and on each of the 6 sections that are to be
collected.

* All 6 questions are to be attempted.

* Al 6 questions are of equal value.

* All questions are to be answered on separate pages and will be collected in separate

bundles at the end of this exam.
* All necessary working should be shown in every question.

* Full marks may not be awarded Jor careless or badly arranged work.



Question 1

(Start a new page)

. - correct to 3 significant figures 2m
0.52 + 321 ( guificant figures)
o o . . Qo2 2
b. Simplify as one fraction with a Rational Denominatop~—"*—=+ — 2m
O J2 2
c. Evaluate 3x4+50+|4x6] 2m
d. Completely factorise
i ¥ - 12x + 20 2m
i 3%+ 11x - 4 2m
i Lx3 .4 2m
2
hint: consider rewriting this in the form }2»( ........ )
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Question 2 (Start a new page)

Express -3.265 (ie. 3.2656565 ..} as a fraction in its simplest form.

a.
b. Completely simplify
i 2463 + 5428 - 343
B (x4 3)x-3) - (x - 1)
c. Solve the following equations
P X2 1
6 3
ii. XE+T7+ 4(x+7) =9
Question 3 (Start a new page)
a. Completely simplify
. x> -9 x? - 9x + 20
i - X
X" -x-12 x° - 3x
. 5 3
i, 3 - =
a ~3a-4. a~ - a =« 2
b. Solve forx if —41—;;2—— <
c. Solve the following simultaneous equations

X-y+3=0 and xy =10
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Question 4  (start a new page)

L ; , A B . C 3m
8. Redraw this figure to the right " -
on {0 your exam page. (5x + 9)"\
D , E

AC//DE/FH 107° - — >
Find the value of x, giving

reasons to support your 129°¢
answer. >

F G H

b. In this figure to the right, KAXY = < ACB.

Redraw this figure onto your exam page.

" Prove that A AXY /// AACB.

ii. On your diagram show the following information: AX =6 cm, BX=8 cm and
AY = 10 cm. Determine the length of YC. ’

c. To the right is the trapezium ABCD,
AB // DC. A line EF is drawn parallel
to AB such that AE = ED.

i Redraw this figure onto
your exam page showing
this information.
Construct a line XY
through the point F
such that AXYD forms a parallelogram.

ii. By considering congruent triangles, prove that BF = FC.

d. Find the value of © if sin & = —;— and O is acute. Im
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Question 5 (start a new page)

a. Find the exact value of tan 300°, ' 2m

b.  Find the value of @ for 0° < § < 3609, if

i sing=-1 2m
’ 2
il Zcos® + 43 =0 3m
c. A horizontal bridge is built between
points A and B. The bridge is
A supported by cables SP and SR,

which are attached to the top of a

- vertical pylon ST.
22m T

The section of the pylon, SQ, above the bridge is 8 metres long and <SRQ = 52°,

The distance AQ is 22 metres and P is the midpoint of AQ.

i Find the length of the cable SR to the nearest centimetre. 3m L
ii, Find the size of < SPQ to the nearest degree. 2m
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Question 6  (start a new page)

a.  Determine the size of each interior angle of a regular 12-sided polygon. 2m
b. Find the value of x if sin (x +20)° = cos 30°. 1m
c.  Provethat tng ~_temf _, cot 6 3m
secd -1 secd + 1
North
d. From the start S, Sharon rode 3 km B
due east to A. At A, she proceeded North
on a bearing of 055° for 10 km to B.
At B, she changed course to a bearing
of 130° and contisiued in this direction
until she reached the finish at C. S A
(C is due east of the start S and A)
i Copy this diagram onto your answer sheet and display this information. Im
ii. Show that < ACB = 40°. Im
iii. Find the distance from B to C (nearest km). 2m
iv. It took Sharon 24 minutes to travel from the start to the finish. 2m

What was her average speed in km / hr?
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